Ht2]&9] Zo]7F 2410cm §1 4 O oA F3P<l = d AB 2} CD 2
Zol7} & 2+/22cm o]t} o] W, T & Ato] o] A0

2\/ﬁcm 2v 22 cm

O —/—cm @ 3v2cm 3 62cm
@ 6cm ® 2+/1lcm



o2 23 Zol AP oA d O
o]1, /AOB = 120°, PB = 4 V6cm ¥

rlo

O OP = 8+2cm
@ AP = 4V6cm

® AB = 4V6cm

2

@ (2= AOBS] Wol) = 22Y0

cm
3

® (oOAPB9] Ed) = (8 V2 + 8V6)cm



e 1

HolA 90 &
= Z_] Z¥AL 71 S

4719 ABC © Y79

g 9lo]ct

w1 g2] ol& 73}
& Fafolt

909



ohe 297 ol 24129 ABCD o A el sk 91 0 7} 9k,
DF 7t 910 €] 11419 1), DF €] Zo]g Totofe.

BT —~® ¥ c



e 2o A PA, PB & 77t A
A, BolAl ¥ O°f Fot= HAol
/AQB = 46°4 W, /APB 9 2
=7

7]

@ 56° @ 66° B3 68°
@ 78° ® 88°




S~
TS T oA 5.0ptAB = 5.0ptAE ©] 1 /ACD = 62° 2 f, /x 9]
717

@ 116° @ 117° B 118° @ 119° ® 120°



7. s ™M F L0, 00 F AP, QA wd o, /BDQ 9

A7)E ot}
APB
o) o)
N 2



th-e 783 2ol gABCD 7Y O W
—>

At CT 7FH 09 HAY o, /DCT

o] 27|12

® 40° @ 50° ® 60°

@ 70° ® 80°




o

I PT = 0 9] FHolxr A
HAoltt, PA =8cm,PT = 12¢cm
o] 49| WA 5] Ao & Fatol

Lo 5 5
= 1

e cm



10. o2 I"oA 24 BT & 9 0 9 FAola,
/N N N
5.0ptAB : 5.0ptBC : 5.0ptCA =2:3:4 ¢
o, x +y o] g7

AN

B

@D 110° ® 100° B 95° @ 90° (B) 85°



11. o5 293 Zo] 214 TE = F ¥9] HAolzt & off, LACT = 26°,
(DBT = 66° ©|t}. 2/x + 32y & 2712

@D 200° ® 210° B 212° @ 215° B 220°



12, oz 23olA A AT 7F 4 0 o AL, 2x + 2y © 4= 75t
ofzt.




13. o ZHlA TA 7F 9] 449w, .CBA 9 27]=7?

@ 30° @ 32° 3@ 40° @ 56° ® 62°



14. ©he Tel A A4 TT & 5 99 35
HAoltt, /PAC =43°, /BDC = 100° ¥
W, 2x 9 2715 Tstelet.




15.

ths 1™ o]l £ A A, B oA Bhd= £ 90,0 o 359 S
St & 9ake] S 247 P, Q L shAE. ZAPB = 36°, LAQB =

70° € w, /PAQ °] 7€ F5kei=t.




16. & IHA AB =Y 0 9 A2o|th. AB=6,CD = 4 o]
AB//CD € ©fj, ACOD 2] Yo|=?

JAVA)
N

@D V3 @ 5 ® 243 @ 245 ® 3



17.

@D 4cm

@ 5cm

3 6cm

@ Tem

B Scm



18.

o2 283} 22 ¥ 094 OD = OE = OF ©]1 AB = 6cm ¢
o 0 9] HolE Fstofzt.




19. o5 "3 Zol & o] Faeo] 3l
ot 2 9o @ AB 7} A2 e Hata,

AL \p
AB = 10 o o, Mot £2 9] gols C
Tt .
0

D 107 ® 157 A 201 @ 257

B 3071



20.

g 290 90 9 A58, 40 9 AFL 4, LABC = 30°
o|et. oJu, DE ] Hel=?

A

A
1




21. o a3} o] Hiz|E9] o]yt 18 o1 ¥ 0 oA & & AB,CD 7}
Z

A P oA T4l /BPD = 60° ¢ W, & AC £} BD 9] Zo]9]
(2. 2 AC, BD = do|7t 32 %5 7H3th)

o

D 671 ® 87 A 9r @ 127 3 151



22. the 2264 5.0ptAB = 5.0ptBC ©] 1
/BDE = 72° °o]t}. AC 9} BE 9] w3¥-&
P 2 & o, /CPE ] 7| & oot




23.

kS 1o A gABCD & € O o WA
51l /DPC = 35°, /BQC = 25° & of,
/(BOD 9] 371&7?

@D 100° ® 110° ® 120°

@ 135°



24. o2 27AS WS o, gABCD 7t
ol Aok k= A2

O PA xPB=PCxPD
@ QAxQD=QBxQC
® /BAC = /BDC
@ /ABQ = /ADC

3 /ABC + /ADC = 180°




25. o3 I3} 2ol E919] Zo|7F 20em 1 A2 ABC o € O 7+ W

=
3 Itk D, B, F = Ado]1 PQ & o] 9o] H4lo|ch. AB = 5om

o o, aCPQ 9] 9] ZolE F5tofzt.

e = om



